< 00, > (M)

<opyp, > ()

Ratio

b
k.
L
EL- (W -1 -1 &lla=d
o 4 ] 5
E 1 ] :

3 -2 - 0 1 2

TP n (PCA to beamline)

......................

i

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time__RECO

100

A OO @
o O O

...........................................

P

.............................................

—— H

3 -2 -1

TP n (PCA to beamline)

?7-@17'“i+'§+'+'*'*l##j:h+ﬁ'H'?Ji:ﬂﬁiii |

= 100

3
TP n (PCA to beamline)



	Contents
	Page 1


